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Note : This paper is of seventy (70) marks divided into

two (2) Sections 'A' and 'B'. Attempt the questions

contained in these sections according to the detailed

instructions given therein. Candidates should limit their

answers to the questions on the given answer sheet. No

additional (B) answer sheet will be issued.

;g iz'u i= lRrj ¼70½ vadksa dk gS tks nks ¼2½ [k.Mksa ¼d½

rFkk ¼[k½ esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r

funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ vius

iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer j[ksaA

dksbZ vfrfjDr ¼ch½ mÙkj iqfLrdk tkjh ugha dh tk;sxhA

SECTION—A

(Long Answer Type Questions)
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Note : Section 'A' contains five (5) long answer type questions

of Nineteen (19) marks each. Learners are required to

answer any two (2) questions only. 2 × 19 = 38

[k.M ¼d½ esa ik¡p ¼5½ nh?kZ mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy nks ¼2½ iz'uksa ds mRrj nsus gSaA

1. Define industrial sociology and discuss its salient features.

vkS|ksfxd lekt'kkL= dh ifjHkk"kk nhft, rFkk mldh izeq[k

fo'ks"krk,¡ Li"V dhft,A

2. Is Industrial Sociology a Science ? Clarify.

D;k vkS|ksfxd lekt'kkL= ,d foKku gS\ Li"V dhft,A

3. What meaning of Industrial Organisation ? Write the

importance of Industrial Organisation.

vkS|ksfxd laxBu ls D;k rkRi;Z gS\ vkS|ksfxd laxBu dk egRo

fyf[k,A

4. What do you mean by Collective Bargaining ? Write the

characteristics of Collective Bargaining.

lkewfgd lkSnsckth ls vki D;k le>rs gSa\ lkewfgd lkSnsckth

dh fo'ks"krkvksa dk o.kZu dhft,A

5. What are the main objectives of the international labour

organisation? Explain.

vUrjkZ"Vªh; Je laxBu ds xBu ds izeq[k mn~ns'; D;k gSa\ o.kZu

dhft,A
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SECTION—B

(Short Answer Type Questions)

Note : Section 'B' contains eight (8) short answer type questions

of Eight (8) marks each. Learners are required to answer

any four (4) questions only. 4 × 8 = 32

[k.M ¼[k½ esa vkB ¼8½ y?kq mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB ¼8½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa dks

buesa ls dsoy pkj ¼4½ iz'uksa ds mRrj nsus gSaA

1. Describe the origin and development of Industrial

Sociology.

vkS|ksfxd lekt'kkL= ds mn~xe ,oa fodkl dk o.kZu dhft,A

2. What is the meaning of the Labour Movement ?

Je vkUnksyu dk D;k vFkZ gS\

3. What do you understand by Trade Unionism ?

Jfed la?kokn ls vki D;k le>rs gSa\

4. Discuss the contribution of Elton Mayo in the development

of Industrial Sociology.

vkS|ksfxd lekt'kkL= ds fodkl esa ,YVu es;ks ds ;ksxnku dk

o.kZu dhft,A

5. Write the functions of Trade Union.

VªsM ;wfu;u ¼Jfed la?k½ ds dk;ksZa dks fyf[k,A
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6. High light on the characteristics of the Labour Movement.

Jfed vkanksyu dh fo'ks"krkvksa ij izdk'k Mkfy,A

7. Write the main objectives of the Industrial Disputes Act,

1947 ?

vkS|ksfxd fookn vf/kfu;e 1947 ds izeq[k mn~ns'; fyf[k,A

8. Explain the meaning of social security and explain its

elements.

lkekftd lqj{kk dk vFkZ Li"V djrs gq, blds rRoksa ds ckjs esa

crkb;sA

*************
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